MORSE|!/2:  Model 285A-HDSS
Stainless Steel Forklift-Karrier

morsedrum.com SN 0818 to Current (MMYY) or 315000 to Current

Copyright - Morse Mfg. Co., Inc. 12 August 2024 Page 1



%' %!\/.'\"".}""'7
L1 B
ESTABLISHED 1923

Model 285A-HDSS

Stainless Steel Forklift-Karrier

morsedrum.com SN 0818 to Current (MMYY) or 315000 to Current
ITEM| QTY PART DESCRIPTION
1 1 |5000SS-P| SADDLE ASM, MORCINCH, MOR, SS
o 1 3849BSS-| BEARING ASM, SLIDING IDLER, SS
P
3* 2 19-P BEARING, 3/4” ID X 2-1/2”
4* 1 64SS-P ROLL PIN, 3/16 X 1-1/4, SS
5 2 5358S-P | HHCS, 3/8-16 X 1-1/4, SS
6 2 |1474SS-P| WASHER, 3/8 SPLIT LOCK, SS
7 1 558S-P | WASHER, 3/4 SAE FL 1-1/2 OD SS
8 2 58SS-P SET SCREW, LOCK TEE, 285, SS
9* 1 5245-P GUIDE, POCKET CHAIN WHEEL
10* 1 ]1303SS-P| POCKET CHAIN WHEEL SILVER PC
11* 1 3-285-P | CHAIN, PULL, POCKET 20’ LENGTH
12 1 15SS-P COLLAR, 3/4” ID, SS
13* 1 7-P BEARING, 3/4” ID X 1-1/2”
14* 1 5269-P ROLL PIN, 3/16 X 1-3/4
15* 1 5135-P SHAFT, 12T SPROCKET & SPACER
16 1 795-P LINK, MASTER, #35 CHAIN
17 1 735SS-P | KEY, WOODRUFF, 9, T304SS 3/16”
18 1 14-P GEAR, PINION, 7 TOOTH
19* 1 13-P SPROCKET #35 36T, 3/4” BORE
20* 1 12-P CHAIN, ROLLER, #35 W/ M LINK
21* 1 27-P SPUR GEAR W/ 1” SHAFT, HD TYPE
22 1 29SS-P SPACER, SPUR GEAR .15”, SS
23* 2 18-P BEARING, 17 ID X 2-1/2”
24* 2 736SS-P | KEY, WOODRUFF, 15, T304SS 1/4”
25* 1 32-P SPROCKET #40D 32T, 1" BORE
26* 1 30-P SPROCKET #40D 16T, 1" BORE
27 1 796-P LINK, MASTER, #40D CHAIN
28* 1 31-P CHAIN, ROLLER, #40D W/ M. LINK
29 4 4481-P SCREW, 8-18 X 5/8 FH SQUARE SS (not shown)
30 1 4284-P COVER SET, 40D SPROCKETS
31 1 14372SS-P| SPACER, HD DRIVE SHAFT 1.4” SS
32 1 4286-P COVER SET, 30:1 GEARS, HD
* Recommended spare parts.

Copyright - Morse Mfg. Co., Inc.

12 August 2024

Page 2



